AP Chemistry Predicting Products Tutorial
Answers to DECOMPOSITION #1-6
1. A solution of hydrogen peroxide is decomposed catalytically.
H2O2 ( H2O + O2 (unbalanced)

Note: memorize this reaction!

2. Solid ammonium carbonate is heated.

(NH4)2CO3 ( NH3 + H2CO3 + CO2 (unbalanced)

Note: This probably will not be on the ap exam, because two substances are decomposing: ammonium and carbonate. Ammonium decomposes to yield ammonia and an acid while carbonates decompose to yield carbon dioxide (and metal oxide if metal were present). You need to memorize the products for decomposition of ammonium and decomposition of carbonates. I just doubt they’d put them both together like they did in this problem.

3. Solid magnesium carbonate is heated.

MgCO3 ( MgO + CO2 (unbalanced)

Note: decomposition of carbonates yield magnesium oxide and carbon dioxide as noted in #2 above.

4. Solid potassium chlorate is heated in the presence of manganese dioxide catalyst.

KClO3 ( KCl + O2 (unbalanced) 

Note: decomposition of chlorates yield potassium chloride and oxygen. Memorize this!

5. A solution of hydrogen peroxide is heated.

(same as #1)

6. Solid calcium carbonate is strongly heated.

CaCO3 ( CaO + CO2 (unbalanced)

Similar to #3 above

